
SAP ABAP table CRMT_PRODUCT_I_BADI {BADI  Communication Structure}

CRMT_PRODUCT_I_BADI

COMM_GROUP [CHAR (2)]

REBATE_GROUP [CHAR (2)]

PROD_PR_GROUP [CHAR (2)]

PRC_GROUP1 [CHAR (3)]

PRC_GROUP2 [CHAR (3)]

PRC_GROUP3 [CHAR (3)]

PRC_GROUP4 [CHAR (3)]

PRC_GROUP5 [CHAR (3)]

CRMC_COMM_GRP

CLIENT [CLNT (3)]

COMM_GROUP [CHAR (2)]

 CRMT_PRODUCT_I_BADI-COMM_GROUP = CRMC_COMM_GRP-COMM_GROUP 

0..N

{0,1}

CRMC_PRC_GRP1

CLIENT [CLNT (3)]

PRC_GROUP1 [CHAR (3)]

 CRMT_PRODUCT_I_BADI-PRC_GROUP1 = CRMC_PRC_GRP1-PRC_GROUP1 
0..N

{0,1}

CRMC_PRC_GRP2

CLIENT [CLNT (3)]

PRC_GROUP2 [CHAR (3)]

 CRMT_PRODUCT_I_BADI-PRC_GROUP2 = CRMC_PRC_GRP2-PRC_GROUP2 
0..N

{0,1}

CRMC_PRC_GRP3

CLIENT [CLNT (3)]

PRC_GROUP3 [CHAR (3)]

 CRMT_PRODUCT_I_BADI-PRC_GROUP3 = CRMC_PRC_GRP3-PRC_GROUP3 
0..N

{0,1}

CRMC_PRC_GRP4

CLIENT [CLNT (3)]

PRC_GROUP4 [CHAR (3)]

 CRMT_PRODUCT_I_BADI-PRC_GROUP4 = CRMC_PRC_GRP4-PRC_GROUP4 

0..N

{0,1}

CRMC_PRC_GRP5

CLIENT [CLNT (3)]

PRC_GROUP5 [CHAR (3)]

 CRMT_PRODUCT_I_BADI-PRC_GROUP5 = CRMC_PRC_GRP5-PRC_GROUP5 

0..N

{0,1}

CRMC_PRC_PRGRP

CLIENT [CLNT (3)]

PRC_PR_GROUP [CHAR (2)]

 CRMT_PRODUCT_I_BADI-PROD_PR_GROUP = CRMC_PRC_PRGRP-PRC_PR_GROUP 

0..N

{0,1}

CRMC_REBATEGRP

CLIENT [CLNT (3)]

REBATE_GROUP [CHAR (2)]

 CRMT_PRODUCT_I_BADI-REBATE_GROUP = CRMC_REBATEGRP-REBATE_GROUP 

0..N

{0,1}


